Differencialegyenlet — Els6rendii — Szétvalaszthatd

1.y = —2zy.
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3.ay' =y—y, y(1)=-1
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(2% + 2)dy — y*dr =0 .

5 (x4 1)dy = (x —y*x)dr =0, a:y(0)=0, b:y(0)=1, d:y(2)=—1,.
, U

6 (w2 =" (w=u(y).

7. t+ )2 +te+t=0, (z=u(t), =(1)=-2.

Differencialegyenlet — Els6rendli — Valtozéiban homogén fokszamu

1. 2%y + zy = 42°.

2. 2y —3x)dx +ady=0, y(1)=2.
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3.9y =
4. 2zy 4+ 3y = —yy’ .
5. (zy — 2?)dy —y?de =0, y(1)=1.
6. yuu' +u* =y%, (u=u(y)) .
z/y i o/y L —
7. 2e 1—— )y +2"Y4+1=0.
Y
Differencialegyenlet — Els6rendii— Linearis
1.y + 22y = x.
P Y _
2. (x+ 1y — ==z, y(l)=e.
T
3.9 +2y=e"2" y(0)=2.
4. (2 + 1)y +ay+x=0, y(0)=2.

5. 2y —3x)dx +xdy =0, y(2)=1.



6. (6712 + 2zy — z)dx + dy = 0.
7.oxu +1=u+42? —u .
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